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: Jor the questions

1. Answer the following questions : 1x10=10
Ood 2RTRA ed fio
fa) Define gross domestic product.

3 97l TRATwA ke fird |

(b) What is the shape of supply of money
curve according to Keynes?
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(c) State Say’s law of markets.
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(d).

(e)
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(h)

)
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‘What is meant by average propensity to
save?

What is meant by multiplier?

B9 Jfeiee e gem 2

What is meant by credit creation?

A @1 ferce & e 2

What is money supply?
TG e 52

Define demand-pull inflation.

v YurRfee e f |

What is meant by depreciation cost?

meﬁﬁm?

Distinguish between intermedi
ate
and final goods, e

::’f'“'@wmm@ammwm

{ Continued )

(3)

2. Amnswer the following questions : 2x5=10
O] AR Teq faam :
(a) Distinguish between real GDP and
nominal GDP.
YRS W TEA oA GE AN [ O
T e 21 ey )

State two difficulties n the
measurement of national income.

AT TE T FAR CFES HIIA @A KO
SRR FE

() What is aggregate demand function?
State its components.

e vifmes [ 7 2R SmEeER IS 34 |

(d) Write any two functions of money.

wia R e gl I o o

(e) What is speculative demand for money?
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3. Answer the following questions (any four) : (€)
5%x4=20 |

What does the 1S curve Q\QQQ\\\\\\\x

Discuss the main E‘eatu"_.s . ‘
IS curve. e ﬂgh.‘“"‘ .

=

Wﬁmmw (R ot wifer) -

(a) .Bn'eﬂy explain the circular flow of
income in a two-sector €conomy.

9% @ 9 wmm vi 2@ T
=M ‘

(b} Explain the three motives for demand
for money according to Keynes.

vaﬁﬂﬁmﬁﬁﬁwﬁmaﬂw
|

(c) Distinguish between current accounts

and capital accounts of balance of
payments.

ﬁﬁm«wsﬁ@&mwm 4
TAETS N Befy 4y | 3

(d) Discuss the modern approach to money

(@)

Answer the following questions :

T epTRd e fi

IS @3TorE 329 oS ST T2 IS @ rerE
F BRI SICHATTHT 4T 1

What is fiscal multiplier? What factors
affect fiscal multiplier?

qEERR BT B2 ISCIE IPE LASRIETS
=91 TomErTR 52

10x4=40

Explain the income and expenditure
method for computing national income.
Point out the difficulties involved in
these two methods. 10

IO S S S S T S 0 0
N G2 T M (RIS Wi%e SR{RAER
B 91 ;

Or / =941

Compare the cash transaction and cash
balance approach to the quantity theory

supply. of money.
TR CEIFE CFaS STYRe 4R STl Wﬂﬁﬂﬁ@ﬁﬁ%ﬁ%awmw
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(b)

(c)
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Define the LM curve. Derive it
graphically and explain the relationship
between the interest rate of market and
income. 3+7=10

LM @erers sigal fin | Bas szEe 3 AfRe
T T T S SF SRR e F=E0]
TR AT |

Cr / 931

Explain clearly the demand-pull
inflation and cost-push inflation. 10

YIETT 551 F2E12, 0701 <647 |

What is liquidity trap? Explain its
significance in monetary policy. 2+8=10

O FH [ YWY WA @Y e
SEALIE

Or / |31

Define inflation. Explain social costs of
inflation. 3+7=10

WY e b i) o S
WWW!I

{ Continued )

{d}
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(7))

Explain the various tools of monetary
policy. Which one is appropriate for
developing countries? Give reason. 8+2=10

TEAfes RidA SRAPER T 1 D!
SR S (PR FRe SRS PR

weefal |
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Discuss the process of credit creation by
commercial bank. 10

e @ 1 e ARFICO! ST 91 |
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